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A. Multiple choice questions

Instructions: Please fill in the table! Each question in section A is worth 2 points. Choose the one alternative that best completes the statements or answers the question! (If there is seemingly more than one correct answer – the answer should be d.)
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1.
Consider an industry with a linear demand function, where all firms have constant and identical marginal costs and zero fix cost. Which of the following firms would have the highest profit?  

A)
A Stackelberg follower in a Stackelberg duopoly.


B)
A Stackelberg leader in a Stackelberg duopoly. 

C)
Any firm in a Cournot duopoly.

D)
Any firm in a Bertrand duopoly with homogeneous products.

E)
None of the above would have a higher profit than the others.


2.
Consider an industry with a linear demand function, where all firms have constant and identical marginal costs and zero fix cost. Consumers surplus is likely to increase if…  

A)
17 out of 20 firms merge in an industry with Cournot competition.


B)
3 out of 3 firms form a cartel in an industry with Cournot competition. 

C)
8 out of 10 firms merge in an industry with Cournot competition and becomes a Stackelberg leader

D)
All of the above.

E)
None of the above.


3.
Which of the following factors/conditions is unlikely to facilitate collusion? 

A)
The interest rates are relatively high.

B)
The demand curves facing the firms are relatively inelastic. 

C) 
The firms have methods at hand to enforce a collusive agreement.

D)
The firms are able to restrict market entry.

E)
None of the above.

4.
Transaction costs of reaching a cooperative agreement are the lowest if the industry…

A)
is highly concentrated, production costs are similar, products are differentiated.


B)
is not at all concentrated, production costs are similar, products are differentiated.


C)
is highly concentrated, production costs vary, products are differentiated.


D)
is highly concentrated, production costs are similar, products are not differentiated

E)
None of the above.

5.
Consider an industry with a linear demand function, which is currently dominated by a 

monopolist and where a potential entrant is considering entering the market. If the 

incumbent firm uses a “limit price” to deter market entry, they should make sure that


A)
they can credibly pre-commit to a production level.

B)
they do not pre-commit to a production level (flexibility is a virtue).


C)
the limit price would result in huge losses for both firms (if the new firm enters).

D)
the price would allow the entrant to gain a small but positive profit (if they enter).


E)
None of the above.

6.
Which of the following could be characterized as “predatory conduct”? 

A)
A firm constantly trying to reduce their costs to get an edge over rivals.


B)
A firm promoting their product to get an edge over rivals. 

C)
A firm charging prices well below their marginal costs and average variable costs. 

D)  A firm constantly trying to improve the quality of their products or services in order to get an edge over rivals.


E)  None of the above would constitute “predatory conduct”.


7.
“Selten’s theorem” could be applied to solve …

A)
a single period game with a unique Nash equilibrium.

B)
a dynamic (repeated) game with an infinite or unknown number of rounds.

C)
a dynamic (repeated) game with a finite, known number of rounds, which has multiple (sub-game perfect) Nash equilibria in the single period version.

D)
a dynamic (repeated) game with a finite, known number of rounds, which has a unique (sub-game perfect) Nash equilibrium in the single period version.

E)
None of the above.

8.
Consider an industry with a linear demand function, where three firms have constant and identical marginal costs and zero fix cost, and two firms consider merging together into one. If all firms behave according to the predictions of the Cournot model both before and after the merger, which of the following statements are false?  

A)
The consumers would be worse off after the merger.

B)
The non-merged firms would be worse off after the merger.

C)
The merger would not be worth it for the merging firms. 

D)
The merger would result in higher prices.


E)
None of the above is false. 
B. Each exercise in section B is worth 6 points.
9. In a supply chain the producer and the retailer firms are both monopolists in the upstream (wholesale) and downstream (retail) markets, respectively.
The demand curve is characterized by the equation P=1000-Q, while the total cost of the upstream monopolist is given by the equation: TC(Q)=200Q, and the total cost of the downstream monopolist is given by the equation TC(Q)=r*Q, where r is the wholesale price of the product (as opposed to P, the retail price). The two firms are considering a merger that would result in an integrated firm that remains a monopolist.
Determine the pre-merger and the post-merger profits of the two firms! Would a merger be profitable for the owners of the firms?
10. Two firms that compete according to the rules of Cournot competition would like to form a cartel to increase their profits.
The demand curve is characterized by the equation P=800-Q, while the total cost for both firms are given by the equation: TC(q)=200q. 

Is it possible to sustain this cartel, if they would like to collectively earn as much profit as one monopolist and use the simple trigger strategy to prevent deviations from the agreement, if the interest rate will be 25% and the probability of the collusion continuing for one more round is 90% in all rounds?

11. Nature puts 2$ on the table. Player 1’s choices: Grab or Wait. If they wait, the pay-off is increased by nature to 8$. Player 2’s choices: Take (8$ to them, nothing to Player 1) or Share the gains with Player 1. Now consider the following normal and extensive forms of a game: 
	
	Player 2

	
	Take
	Share

	Player 1
	Grab
	(2 ; 0) 
	(2; 0) 

	
	Wait
	(0 ; 8) 
	(4 ; 4) 






Which of the forms above would more accurately reflect the description of this game? Identify all subgame perfect Nash equilibria! Would the game have a different end result if they played the game repeatedly for 4 rounds?
12. Two out of three firms in an industry with Cournot competition would like to merge into one with a view to increasing their profits.

The demand curve is characterized by the equation P=32000-Q, while the total cost for every firm in the industry is given by the equation: TC(q)=8000q. 

Would the merger increase the profits of the merging companies compared to the pre-merger state of affairs if we assume that their costs would be characterized by the same cost function and they would still compete with the non-merged firms according to the rules of the Cournot model? 
(1 π ; 2 π)





Take





(0 ; 8)





Player 2





Wait





(4 ; 4)





Share





Player 1





(2 ; 0)





Grab








16 April 2019

